
73

0403-022
2532-004

2532-004

2532-004

2532-038

0412-217
2534-007

2534-007

2505-006

2537-002

2505-002

0412-200

2534-007

0412-218

2533-024

2533-024

2534-012

0402-639

2523-020

0412-217

0402-530

0412-201

0412-204

2500-049

0412-219

0403-254

0402-532

2532-006

2532-006 2506-010

2531-002

0412-130

0412-217

2532-004

2534-007

2532-004

0412-200

74

ランディングギヤセット（白�）�
Landing gear set (White)

スキッドパイプ�
Skid pipe

スキッドパイプキャップ� ø8

Skid pipe cap ø8

ジャイロマウント�
Gyro mount

スキッドフット（白�）�
Skid foot (White)

SD燃料タンク480cc 

�

SD fuel tank 480cc

SDメインフレームセット 

�

SD main frame set

M3ナット�
M3 nut

M3ナイロンナット�
M3 nylon nut

FW3X9X1T

ラダーコントロールパイプ� ø3 L=1000

Rudder control pipe ø3 L=1000

セットスクリュー� M3X5
Set screw M3X5

キャップスクリュー M3X12
Cap screw M3X12

キャップスクリュー M3X20
Cap screw M3X20

キャップスクリュー M3X18
Cap screw M3X18

ナベ頭ビス� M3X32
Pan-head screw M3X32

タッピングスクリュー M3X12 クロ�
Tapping screw M3X12 Black

座付タッピングスクリュー M2.6X16
Tapping screw M2.6X16 with washer

0402-530

0402-532

0402-639

0403-022

0403-254

0412-201

0412-204

0412-218

2505-002

2505-006

2506-010

2523-020

2531-002

2532-004

2532-006

2532-038

2533-024

2534-007

2537-002

1式�

1 set

1式�

1 set
1式�

1 set
1式�

1 set

2

4

1

2

各1

� �

20

10

20

10

10

10

10

10

10

10

1,800

800

300

300

1,000

1,500

2,500

200

200

100

400

300

400

400

400

500

100

タッピングスクリュー M3X10 クロ�
Tapping screw M3X10 Black2534-012 10 100

500

スキッドフット、�パイプ、�キャップ、ネジ付�
Skid foot, pipe, cap and screws attached

キャップ付�
Caps attached

ネジ、ナット付�
Screws and nuts attached

コード�No.
Code No.

品　　　　名�
Name

入数�
Q'ty

価格�(円�）�
Unit price in yen

備　　考�
Remarks

SD メカマウント�
SD mechanical mount

0412-130 1 1,000

1,000

SDタンク防振ゴム�

SDタンク防振ゴム付�
SD fuel tank rubber cushion

SD fuel tank rubber cushion attached

0412-200 4 400

SD ボディマウントセット�
SD body mount set

0412-217 600
ネジ付�
Screws attached

SD ø19 Bearing holder

SD ø19Brg.ホルダー�
Bearing attached

Brg. 付属 

Brg.  ø10Xø19X5ZZ2500-049 2

2

1,200


